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suits = ['Clubs’, 'Diamonds’, 'Hearts', 'Spades’]

x = [0.30, 0.60, 0.10]
y = [0.50, 0.10, 0.40]
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x =[0.30, 0.60, 0.10]
x[0] =0.30
x[1] = 0.60

x[2] =0.10
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x = [0.30, 0.60, 0.10]
y = [0.50, 0.10, 0.40]

total = 0.0
for 1 in range(3):
total += x[i]=*y[il]

print(total)
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[0.30, 0.60, 0.10]
y = [0.50, 0.10, 0.40]

X
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x[1] y[i] x[i]*y[i1] total

0.00

total = 0.0 0 0.30 0.50 0.15 0.15
for i in range(3): 1 0.60 0.10 0.06 0.21
total += x[i]dy[i] 2 0.10 0.40 0.04 0.25

Trace of dot product computation
nrint(total)
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X [ ,
y = [0.50,
total
i
total
(total)

) ]
) ]
( (x)):
x[i]*y[i]
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a = []
for 1 in range(n)
a += [0.0]
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Memory representation (idealized)
QfX = [0.30, 0.60, 0.10]
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>>> a = [1,2] >>> b = (1,2)
>> a [ 1] = 0o >>> b[O] = 2
>>> a Traceback (most recent call last):
[1, @] File "<stdin>", line 1, in <module>
TypeError: 'tuple' object does not support item assignment
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total = 0.0 total = 0.0 e Sile dsle Jlio @
for v in a: for 1 in range(len(a)) oo
total += v total += a[i] ol sleolawl boe
average = total / Ten(a) average = total / Ten(a) ,
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* Start, stop, step
* Start < stop
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: a =[]
e e | for 1 in range(:
a += [random.random()] _
print the array values, | for v in a:
one per line print(v)

maximum = a[0]
find the maximum of the | for v in a[l:]:

array values if (v > maximum): _
maximum = v

be

total = 0.0
compute the average of | for v in a:

el A et ‘average = float(sum(a)) / Ten(a)
average = total / len(a)

b =[]

copy to another array | for v in a:
b += [v] -
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>>> name = input("enter your name:")
enter your name:Shayan

>>>

>>> name = input("Enter your name:")
Enter your name:Fatemeh

>>> print('hello '+ name)

hello Fatemeh
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>>> a =int( input("Enter a number:"))
Enter a number:2

>>> print(a*2)

4

>>> [
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